PS>~ > = 7 = - U
#366220 XB4 INDEPENDENT SERVO MOUNT - SET

Depending on the electronics layout you can place the servo mount either on the left or right side.

O =

902306
SH M3x6

© =

902308
SH M3x8

O

961032
SHIM S 3.2

Bas 366220

306208 »
903306

Servo

& HUDY ALU SERVO HORNS

(NOT INCLUDED)

NOTE
ORIENTATION

903306, opTion | #293497 23T
#293498 24T
#1293499 25T Servo screw
(NOT INCLUDED)

& HUDY CLAMP ALU SERVO HORNs 8

oPTioN | #293404 297 : USE APPROPRIATE SERVO ARM:
#1293405 24T i
#1293406 25T &3

For more in-corner steering and better steering
response, aluminum servo horns may be used.

(231)  (241)  (25T)

#366220 XB4 INDEPENDENT SERVO MOUNT - SET

Depending on the electronics layout you can place the servo mount either on the left or right side.

O =

902306
SH M3x6

© —

902308
SH M3x8

O

961032
SHIM $ 32

x ¥ ¥ o6

366220

e
306208 /&
903306

903306 opTIoN | #293497 23T
#293498 24T
#1293499 25T Servo screw
(NOT INCLUDED)

ﬂ HUDY CLAMP ALU SERVO HORNS [l

oPTION | #293404 237 : USE APPROPRIATE SERVO ARM:
#293405 247 i

#1293406 25T 3 |

5 3X6mm

Servo

& HUDY ALU SERVO HORNS

For more in-corner steering and better steering
response, aluminum servo horns may be used.

(NOT INCLUDED)

NOTE
ORIENTATION

(231)  (241)  (25T)



@)=

903306

SFH M3x6

() s

903306

SFH M3x6

If you have any questions, please do not hesitate to contact XRAY at info@teamxray.com or visit our website at www.teamxray.com for news and updates.



